N7 A
moravane.otrokoviceeséssr

"E’ :

SERVICE BULLETIN Z 326/69
Z 526/37

oD C3 £3 0 OO0 om B0 o) ©9 £ 00 o3 €5 €0 60 3 o0 £ £ e <> S o8 sn =

l. Concerns : All aircraft Z 326, 2 326 A, Z 526, Z 526 4,
Z 526 F, % 526 L, Z 526 AFS, Z 526 AF.

25 Reason ¢ Removal of abnormal clearance in the upper butt
hinge of the wing.

3. Measure : In the event the abnormal clearance in spherical
seating of the upper hinge of wing is ascertained,
replacement of an upper wing attachment fitting
should be performed. Till prod. No. 1148 incl.,
replace upper attachment fitting by attachment
fitting of draw. No. AS 526.211=01.P1 (for bolts
of wing of dia. 18). '

From prod. No., 1149 replace upper attachment fitting
by attachment fitting of draw. No. L 526.211-01.P1
(for bolts of wing of dia. 20), :

The bulletin must be incorporated in theé Overhaul

Manual,
4. Measure to be performed by :; Uper.
56 Ezpeﬁses to be borne by : User,

6. Necessary material to be supplied by : '
Manufacturer according to user s order.

7. Working process : Stated on next page of this bulletin,

AR R an €9 CIER S D O G0 G5 O0 S5 S O €53 o GO0 G e D 0 - D 0 D G T D s T T T 0 e S S 5 - W - —— ——

ing. Machédlka ' mjr. Pabil
Manufacturer 's Representative .  Cuatompr s Representative
' 28.6.1973 |
Date
ing. Héva ing. Kyzlink
ounteoL State Avistion Tiapsction



7. Working proces :

Y e T — D ——— — — - T - —

Lay removed wing without fuel tank on prepared stands - see fig.l.
To facilitatenthe access to heads of fitted bolts (ind.No., 2,3)

we recommend to disconnect the pull rod of ailerons from the
transmission lever and to insert it in the wing in order not to
hinder from work. Remove 2 nuts M 5 (ind. No.7), 2 shims (ind.No.5)
and 12 nuts M 6 (ind. No.8), 2 shims (ind. No.4) by aid of eye
spanner and fork spanner., Mark shims (ind.No., 4,5) so that you can
put them on original place when installinﬁ new attachment fitting.
Knock out 2 fitted belts of dia. 5 (ind. No., 2),12 fitted bolts

of dia, 6 (ind. No. 3) and .remove attachment fitting (ind. No. 1)
from the wing. Mark again further 2 shims {(ind. No. 5), 2 shims
{ind. No. 4) and 2 plates (ind. No. 6). Drill off rivets on 2
anchor nuts (ind. No. 9) using a drill of dia. 2.7 mm and remove
them from the wing. In prolongation of axis of holes for fitted )
bolts, drill 6 holes of dia. 8 into a stiffener on the wing - see (i
fig. 2. In a new attachment fitting (ind. No, 1), reream a marginal
hole of lower row from dia. 4.8 mm to dia. 5 H 8 for a new fitted

bolt {ind. No. 2). Slide on this new attachment fitting on the

spar web and set plates (ind. No. 6) and shime (ind, No. 4,5) on
original places in accordance with markings. :

Install new fitted bolt of dia. 5 (ind. No, 2), new M 5 nut

(ind. No. 7) and tighten after installation of the fitting. feam

last hole in the upper row to dia. 6.1 H 8, install new fitted

bolt of dia. 6.1 (ind.No, 11) new ¥ 6 nut (ind. No. 8) and -

tighten them, Ream remaining holes to dia. 6.1 H 8, one hole to

dia, 5.1 H 8 = gee fig. 2. When reaming lower row, utilize drilled
holes of dia. 8 in the stiffener on the wing. Install new fitted
bolts of dia. 6.1 (ind. No. 11), new nuts M 6 (ind. No. 8), and
fitted bolt of dia. 5.1 (ind. No., 10) with a new nut M 5 (ind.

No, 7). After tightening, secure nut by means of three centre-
-punches. Rivet again nuts (imd. No. 9) with the use of rivets

3549 A - 2.6 - 8, Do not forget to connect the pull rod of

gilerons to the transmission lever. In case of the second replacement
of the attachment fitting, proceed in the same way. (
Apply, however, fitted bolts of dia. 6.2 draw.No. 990-375-04 and

dia, 5.2 draw. No, 990-375=03, Ream then holes to dia., 6.2 H 8

and dia. 5.2 H 8,

Necegsary material

D — T ——— — ———

Ind, Assy
No, units
1 3 Attachment fitting upper
for bolts of wing of dia.l8 AS 526,211-01.FP1 1
Attachment fitting upper .
for bolts of wing of dia.,20 L 526,211-01.P1 1
2 Fitted bolt of dia. 5 Z 326,211-01.42 1
3.1 Fitted bolt of dia. 6.1 990=-375-02 12
10 Fitted bolt of dia. 5.1 990-375-01 _ 1
7 Nut ; M 5 CSN 021401.44 2
8 Nut M 6 USN 021402.44 12
12 Countersunk-head rivet 35494-2.6-8 4
-



Fib".l
Fi;’_—‘,’ol
Abb.l
bur.1

Z.z- 3269 211‘010P1

Z 326¢¢
2 520

cor. 1 Pohled P (sorsa epuriREEE pRx
Vue P  (démontage) g us LDN 3246 horni Fada

View P (removal)
Ansicht P (Demontaye)
Bun II (zemMonTam

icovanych Sroubl
ligne supérieure

dea boulons aJusted
upper row of
fitted bolts

A3 5266211-01.P1
L 5260,211-01.P1

2 326,211-0L032 o /

Obere Reihe der
Passchrauben

HURHuA pan
NIPUTHAHHHX
6oJxTOB
dolni Fadg
licovanych Sroubld
3 7 326,211-01.41 ligae inférieure

H5 83N 021401.44 7

des boulons ajustés
8 16 SN 021402.44 lower row of

Untere Reihe der
6 z 3264211-01035 beve Passchrauben

Z _)260211.01043 II : lf Z 396.211_01033 fltted bolts

Fig.2 (ﬁbntage) - Obr, 2 (montdf) - Fig.2 (Inatallation)
£bb.2 (Montage) $ur.2 (MouTax)

14 590-375-02

4 15526.211-01.P1 |8 M6 &SN 021402.44

40 990-375-01 L 526,211-01sP1 4 Z 326,211-01,33
7 45 0 021401.44 /LB 2 326021101035 b.ve
§ T 3260211-01043 i )

1 otvor # 5,1 HE

trou
hole of dia.

Loch
oTEBEepcTue

oTBEpcTUe
Loch - - &
hole of dia. = 2 iy Sy L B A AT
1 otvor ¢ 5 18 5 otvori 8
trou

/ 12 otvord @ 6,1 H 8
‘ ///// holes of dia.
: / Locher

}owsepcwuﬁ

trous
2 7 326.211-01.42 holes 6f dia. 12 3549 4 - 2,6 - 8
F 15 B 021401044 Locher

OTBepcTuit
O I 3260211=01.43

19



Z 32¢|eq

2 5263
Necessary material in case of the sscond replacement of the
gttachment fitting.
Ind. Assy
No. units
1 Attachment fitting upper
for bolts of wing of dia. 18 AS 526.211-01.P1 4
Attachment fitting upper
for bolts of wing of dia.20 L 526,211-01.P1 . !
2 Fitted bolt of dia. 5 Z 326.,211-01.42 1
10 Fitted bolt of dia, 5.2 990-375-03 1
8 Fitted bolt of dia. 6.2 990-375-04 12
7 Nut M 5 SN 021401.44 2
8  Nut M 6 CSN 021402.44 12
12 Countersunk~head rivet 35494 - 2.6 - 8 4

The attachment fitting upper - draw. No. AS 526.211-01.P1 - is
dellvered with predrilled holes of dia. 5.8; dia. 4.8 for
rereaming for fitted bolts and with a hole of dia, 18 H 8 for
the bolt of wing.

The attachment fitting upper - draw. No. L 526.211-01.P1 is
delivered with predrilled holes of dia., 5.8; dia., 4, % for
rereaming for fotted bolts and with a hole of dia. H 7 for
the bolt of wing.

175/73/M



éur. 1 OTBepCTHUA LJaA AOCTYyN& K IOJOBKAM NPUIHAHHHX OOJATOB

_ohws 1 Locher fur Zutritt zu den Passchraubenkopfea
Abb. 1 Holes for access to heads of fitted bolts
Fig. 1 Trous pour 1 acces aux tetes des houlons ajustés,

otvery pro pristup k hlavam licovanych®™: vound

Fib"- 1.

nepBoRavasbuut & 18
Original @ 18
original dia.l18

¥ original 18
36621111 P1 “L plvodni £18

A 526,.11~01.P1 )

Iy 545:23 5~01sP1 piivodni¢ 20
¥ original 20
original dia.20
Uriginal ¢ 20

nepBoHavaabHul @& D

C4

adi-o 150 Rindke DRiGddak of poevalord paly i

Désassembler la tringle des ailurons du levier de¢ transmissiona
Discanect pull rod of aileron from transmission lever
Zugstange der Querruder vom Ubertragungshebel abmontierca

OTcoeaMHUTh TATY SAEPOHOB OT INMEpPeBORHOI'O pHYAra





